BAH/KEKDMETEE R EER
[KEBEKDEEBERE (29 L134K0U137/DEEr) 10Ba/kg]
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ERRI0FEIF4B(N) F-HI09RES5 ~ F1£128520%
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EEUG ) i134 +37)1137
HREFKIE T (0.7) & (0.9)
INE &K T (0.8) T (1.0)
& FERF KIS N (0.8) N (1.0)
KR & K5 T (0.9) N (1.0)
WwiEF K5 ENETY (0.9) THH (1.0)
HIt KIS THH (0.8) ENETY (0.8)
ZF KIS ENETY (0.9) THH (0.7)
TS THH (0.8) THH (0.9)
HEF KIS THH (0.7) THH (0.8)
FAEmEF KIS THH (0.8) THH (1.0)
B&5Ki5 T (0.8) N (0.9)
FrEr iR KIS THH (0.6) THH (0.8)
t 8% Ki5 T (0.7) T (1.0)
TERIRFKE N (0.9) N (0.8)
B/NE) KIS THH (1.0) THH (0.9)
U INEES N ELE (1.0) NELE (0.9)
EEYS THH (0.9) THH (0.8)
=& 5FKE ENETY (0.9) THH (0.9)
th = K5 K5 T (0.8) N (0.7)
FriR & Kis T (1.0) N (0.8)
INR K5 T (0.8) T (0.6)
BAR)IFKIE THH (0.8) THH (0.9)
EREREFKIG THH (0.8) THH (0.6)
EREILER % KI5 ENETY (0.8) THH (0.9)
EEMmEFKIE THH (0.8) THH (0.8)
B R H KIS T (0.8) N (0.7)
JIRZTTiE KIS T (1.0) & (0.7)
MEEYS ENETY (0.7) THH (0.8)
P95 K15 T (1.0) N (0.8)
T BEF KIS ENETY (0.8) THH (0.8)
=B KiS T (0.9) N (0.7)
FllhRFKIE THH (0.8) THH (0.9)
EELFHKES THH (0.7) THH (0.8)
H [:$K 5 T (1.0) T (0.8)
&)l F KIS ENETY (0.9) THH (0.8)




